
Note: In all cases, use the most current baseline to determine recordability as you would to calculate an STS under the hearing conservation provisions 
of the noise standard (§1910.95). If an STS occurs in just one ear, you may only revise the baseline audiogram for that ear. 

* An STS is defined in the occupational noise exposure standard at 29 CFR 1910.95(g)(10)(i) as a change in hearing threshold, relative to the baseline 
audiogram for that employee, of an average of 10 dB or more at 2000, 3000 and 4000 Hz in one or both ears. 

** The audiogram may be adjusted for presbycusis (aging) as set out in 1910.95. 

Hearing Loss Flow Chart 
Provided by The Jacobs Company, Inc. 

Use this chart to determine whether the results of an audiometric exam reveal a recordable standard 
threshold shift (STS).* 
 

 Has the employee suffered an STS in one or both ears? 

Is the employee’s overall hearing level at 25 dB or more above 
audiometric zero averaged at 2000, 3000, and 4000 Hz in the affected 

ear(s)?** (If the employee has never previously experienced a recordable 
hearing loss, you must compare the employee’s current audiogram with his/her 
baseline audiogram. If he/she has previously experienced a recordable hearing 

loss, compare the current audiogram with the revised baseline audiogram.) 

 

Record on the OSHA 300 Log, and check the “Hearing 
Loss” column 

If the employee has visited a physician for hearing loss, did the 
physician confirm the hearing loss is work-related? (If it is confirmed 

to be non-work-related, it does not need to be recorded.) 

Is this the only hearing test the employee will be receiving within 
the next 30 days? 
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